oS 1383} Zo]l AB = AC, /BAD =
(CAD, /ABE = 120°¥ o, «x 9] 37]
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120°
® 10° @ 20° 3)30° B D C
@ 40° ® 50°
ol HAZAH o HA Y o] FEAS S FA ol TR ER

/ADB = 90°

AADB of|A] & WjZte] gt o]-25h] ¢k=
Zomg /x+90°=120°°]t}.

wabA zx = 30° 0|t}




2. & I8 AD=BD=CD o] B=40° ¥ uf, zx &] I7]=?

A

x

O 40° @ 45° 3)50° @ 55° ® 60°

B )

/B = /BAD = 40° o]B.&
LADC = 40° + 40° = 80°

1
o 2x = 5(180° — 80°) = 50°







"3} 2ol /B =90° ©]1l, AB = BC ¢l #]Ztol5+# J# ABC 9]
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ZYZ¥ D, E gt 512k AD = 10cm, CE = 6cm ¥ UH, o oé CDE
o] Hol?
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D) 12¢m? @ 24cm? @ 30cm?
@ 60cm? ® 90cm?

B |

(ABD + /BAD = 90° ©|1, /ABD + /CBE = 90° o|B &
(BAD = /CBE

2 Z}A 7l o] HiW o] Zlo|7} 23 gt Zho] Av|7 gomg
AABD = ABCE ©]t}.

AD = BE = 10cm ©]2, BD = EC = 6cm ©|22 DE = 4cm
oltt.

A7} CDE ©] Wol=

% X 4 x 6 = 12(cm?) ©|t}.
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@ /DAB @AABE ® ¢ABC

@).acB @) .car

B

@ Zo] Hlo|ZZ HoW /BAC = /DAB = 80°
@ /ABE = 180° — ZABC = 180° - 80° = 100°
® (BAC = /ABC = 80° (97})
@ AABCQ WZ+9] ghe 180°0]1 2=

/ACB = 180°—80°—80°=20°
® /CAF = /ACB =20° (97
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@ 4CH1 @ 4.5Cm @ 5cm
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LQAC = /CAB (%°] & 7)
LQAC = £ACB (47})
. LCAB = /ACB
wtebA AABCE Wztho] 97]7F 23, AB = BC ¢l o] S Az}

Folrt.
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o qm Aol dhe 247 A, B 2l & off, AAOP = ABOP U=
Lrer 7] AsiAf ol 8ot et

@D SSS g @ SAS 3=

@rua g5 ® RHS &%

(AOP = /BOP, OP (&%), LOAP = /OBP = 90° |2
AAOP = ABOP
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=

o
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o2 1" A AABC & /A = 90° ©]aL
AB = AC olth. d B, C oA ZAH A
S A= A4 19l HE A0 g 242t
D,E 2 5}#F DB = 6¢m , EC = 4em o
DE 9] Zo]&=?

@ 5cm @ T7em ® 8cm @mcm

A:Lcm
C
® 12cm

B

(BAD + /CAE = 90°

.. DE = AE 4+ AD = DB + EC = 10(cm)

/BAD + /ABD = 90° ©]E2& /ABD = /CAE °] 1,
AB = AC °|2& AABD = ACAE (RHA &%)
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A C B
@ /ADC = /ECB @) «cDE = /CEB
® AB=EB+DA @ AACD = ABEC

® TABED = %(a +b)?

B

AACD ©f|4 £ADC + /ACD = 90°

ESH /DCE = 90° °|2& /ACD + <ECB = 90° .. /ADC =
(ECB ---Q

AACD &} ABEC 9|4 /A = /B=90°---©

DC=CE -- -®

@, ©, ©®°Il4 AACD = ABEC (RHA &%)

Z AC=EB,CB=DA.. AB=AC+CB =DA+EB
=a+b

1 — 1 1
B_‘_, DABED ES §(a+b)XAB = 5(a+b)><(a+b) = §(a+b)2




10.

th8 7oA AABCE=AB = AC, /A = 48°
°‘ Ol%Lu Zkgoltt. A B, C oA thHol W

-0’1 qks 7} dpd M, NO]E}Q—EH, X+ Ly
94 371%‘7

D)72° @ 76° ® 80°

ABNC = ACMB(RHA 35)

ABMC ©f|A, /MCB = 66°, y = 24°,

/MCN = 66° — 24° = 42° . x = 180° — (42° 4 90°) = 48°
w2bA] zx + Ly = 48° 4 28° = 72° |t}




